Lamma 4.4 Lot Zo E OD. Then Z-720 F(Z) exists.

Pf: Suppose not. Then \exists two sequences $|z_n|_s$ and $|z'_n|_s$ st. $\lim_{n \to \infty} z_n = \lim_{n \to \infty} z'_n = z_0$ and $\lim_{n \to \infty} F(z_n) = S \neq S' = \lim_{n \to \infty} F(z'_n)$ Since $F : D \Rightarrow P$ is conformal, $S, S' \in \partial P = F$.

let D, D'be discs centered at 5 e5 respective with d=diot(D, D') > 0.

Then I no>0 st. if n≥no, F(Zn) ∈ DNP € F(Zn) ∈ DNP

⇒ ∃ a continuous curve ∧ in DNP connecting all F(Zy) with n≥no &S
i.e. F(Zn) ∈ ∧, ∀ n≥no and
≿ is our of the and origin

S is one of the end point of Λ

Similarly for N' in D'AP

Lamma 4.5 The conformal map
$$F = D \rightarrow P$$
 extends to a continuous map from \overline{D} to \overline{P} .

Existence of the limit is proved in Lemma 4.4.
(learly, it remains to show that
$$F$$
 is continuous at zo(SD)
By definition of $F(z_0)$, $\forall E > 0$, $\exists \delta > 0$ such that
(*) $|F(z) - F(z_0)| < E$, if $|z - z_0| < \delta$ and $z \in D$.
For $z \in \partial D$, and $|z - z_0| < \delta$
then $\exists w \in D$, lose to z , such that $|F(w) - F(z)| < \varepsilon$ and
 $|w - z_0| < \delta$.
Therefore $|F(z) - F(z_0)| \leq |F(z) - F(w)| + |F(w) - F(z_0)|$
 $< \varepsilon + \varepsilon$ (applying (*) to w)
 $= z\varepsilon$.
All together F is continuous on ∂D .

G(F(z)) = zSimilarly for $w \in \partial P = P$, F(G(w)) = W. This completes the proof of the Thm . 4.4 The Mapping Formula

- a1, a2, ···, an ordered vertices of ₱ (n≥3).
- TTX = interior angle at ak.
- TTBR = exterior angle at Qk, ie. Bk= I-dk

Then
$$\sum_{k=1}^{n} \beta_{k} = 2$$
 (Elementary Euclidean Geometry)

Let $F : H \to P$ be <u>conformal</u> • Existence is guaranteed by Riemann mapping thm: $F \longrightarrow D \longrightarrow P$ $H \longrightarrow W = \frac{V}{1+Z} \longrightarrow G(W) = F(Z)$ Riemann map

Since G extends continuously to D by Thin 4.2 and Z → W = i-Z/(i+Z) clearly extends cartinuously to the boundary X-axis,
The conformal map F=1H → P extends continuously to IH.
May assume A_k = F¹(a_k) ∈ R (i.e. no vertex of F <> 00) (Ex!)

with
$$A_{R} \in \beta_{R}$$
 as above
Then $\exists (cpx) \text{ constants } C_{1} \text{ and } C_{2} \text{ such that}$
 $F(z) = C_{1}S(z) + C_{2}.$ ($C_{1} \neq 0$)

$$\begin{split} I \underline{dea} \ of \ proof : \ If \ F = C_1 S + C_2, \\ & + ten \qquad F'(z) = \frac{C_1}{(z - A_1)^{p_1} \cdots (z - A_n)^{p_n}} \\ \Rightarrow \ log \ F'(z) = log \ C_1 - \frac{n}{k = 1} p_k log (z - A_k) \qquad (whenever \ defined) \\ \Rightarrow \qquad \frac{F'(z)}{F(z)} + \frac{n}{k} \frac{f_k}{z - A_k} = 0 \\ & + ence \ we \ need \ to \ study : \ (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ of \ F \ at \ A_k \\ & (i') \ behavior \ at \ A_k \ at \ A_k \\ & (i') \ behavior \ at \ A_k \ at$$





And the mage of the third and arc
$$(A_{k+1}, A_{k+1})$$
 is
a straight line segment by the property of the
map $\Xi \mapsto \Xi^{1/4k}$.
Hence composing with a rotation of a suitable angle Θ_k ,
 $e^{i\Theta_k} \Theta_k$ maps (A_{k-1}, A_{k+1}) into iR .
Schwarz reflection principle $\Rightarrow e^{i\Theta_k} \Theta_k$ and thence the
can be analytically cartainated to the infanite strip
 $iZ = X + iY$: $A_{k-1} < X < A_{k+1}$.
 $(\underline{lain} : \Theta_k^{(2)} = 0, \forall \Xi \in \{A_{k+1} < B_k(\Xi) < A_{k+1}\}$.
 $A_{k-1} = \frac{i}{\Theta_k} \frac{F(\Xi)}{F(\Xi) - \Theta_k}$
 $F = |H \rightarrow P$ is confirmed $\Rightarrow F(\Xi) = 0, H = E|H|$

Hence
$$t_{k}(z) \neq 0$$
, $\forall z \in \{A_{k+1} < B_{k}(z) < A_{k+1}\} \land H_{1}$.
Sciall that, the Schwing reflection principle is constancted.
using $e^{iQ_{k}}H_{i}(\overline{z})$ so up to a multiple of non-gero
constant, $t_{k}(\overline{z})$ for $z \in \{A_{k+1} < R_{k}(z) < A_{k+1}\}$.
Is $T_{k}(\overline{z})$ and $R_{0}(z) \neq 0$.
If remains to consider $\overline{z} = x \in (A_{k+1}, A_{k+1})$.
Note that $F \mid_{(A_{k+1}, A_{k+1})}$ is injective,
 $t_{k} \mid_{(A_{k+1}, A_{k+1})}$ is also injective.
Hence $\frac{\partial}{\partial x}H_{k}(x) \neq 0 \quad \forall x \in (A_{k+1}, A_{k+1})$.
Hence $\frac{\partial}{\partial x}H_{k}(x) \neq 0 \quad \forall x \in (A_{k+1}, A_{k+1})$.
We be shown that $f_{k}(\overline{z}) \neq 0$, $\forall \overline{z} \in \{A_{k+1} < R_{k}(\overline{z}) < A_{k+1}\}$.
For $z \in \{A_{k+1} < R_{k}(\overline{z}) < A_{k+1} \le A_{k+1}$

$$= d_k h_k(z) \qquad h_k(z)$$

$$= d_k h_k(z) \qquad h_k(z)$$

$$\Rightarrow \frac{F'(z)}{F(z)} = -\beta_k \frac{f'_k(z)}{f'_k(z)} + \frac{f'_k(z)}{f'_k(z)}$$

Since
$$f_{k}(z) \neq 0$$
, $\frac{F'(z)}{F(z)}$ extended to a meromophic
function in {A_{k-1} < Re(z) < A_{k+1} \$ with a simple pole
at the only zero $Z = A_{k-1}$ of $f_{k}(z)$.
(clear from the definition of the on the upper hell strip
and the reflection principle)
By Taylor's expansion of $h_{k}(z)$ rear $z = A_{k}$, the
 $Ros_{z=A_{k}} \frac{F'(z)}{F(z)} = -\beta_{k}$.
 $\frac{F'(z)}{Z} + \sum_{n=0}^{\infty} \frac{\beta_{k}}{Z} = \left[\beta_{k}\left(\frac{1}{z} - \frac{\beta_{k}(z)}{2}\right) + \frac{\beta_{k}(z)}{2}\right] + \sum_{n=0}^{\infty} \frac{\beta_{k}}{Z}$

$$\frac{F'(z)}{F(z)} + \sum_{l=1}^{\infty} \frac{\beta_l}{z - A_l} = \left[\beta_k \cdot \left(\frac{1}{z - A_k} - \frac{\beta_{l_k}(z)}{\beta_k(z)} \right) + \frac{\beta_{l_k}(z)}{\beta_{l_k}(z)} \right] + \sum_{l+k} \frac{\beta_l}{z - A_l}$$
$$= E_k(z)$$

with $E_k(z)$ is tolo in $(A_{k-1} < R_l(z) < A_{k+1})$

$$\left(as \frac{1}{Z-Ae}, l \neq k, are also thole in the domain \right)$$

Similarly, there exists $E_1(z)$ tolo in $\{-\infty < \text{Re}[z] < A_z\}$ such that

$$\frac{F'(z)}{F'(z)} + \sum_{l=1}^{N} \frac{P_l}{z - A_l} = E_l(z), \quad \forall z \in \{-\infty < \text{Re}(z) < A_z\},$$

and En(z) tholo in ? An-1 < Re(z) < on }

such that
$$\frac{F'(z)}{F'(z)} + \frac{\hat{z}}{z} \frac{\hat{\beta}_{e}}{z - A_{e}} = F_{n}(z), \quad \forall z \in \{A_{n}, \langle Re(z) < \infty\},\$$



Step 2 Global behavior of F'(z)/F'(z)Note that the domains of Ek & Ekti overlaps on $l A_k < Re(z) < A_{kti} >$, $E_k & E_{kti}$ together define an analytic function on $l A_{k-1} < Re(z) < A_{k+2} >$. (and agree on IH) $E_k = \frac{E_{kti}}{E_k}$



And so on, E, ..., En all together defines an entire function E(Z) (on {-co< Re(Z)< t005).

This implies,
$$\frac{F'(z)}{F'(z)} + \frac{p}{z} \frac{\beta_k}{k=i}$$
 is entire
(More precisely, extends to an entire function.)

$$\frac{\text{Step3}: \text{Estimate of } F'(\overline{z}) \cdot F'(\overline{z}) \text{ at } |\overline{z}| \neq 64}{\text{Note that by mignoness of analytic continuation, the extension of $\frac{F'(\overline{z})}{F'(\overline{z})}$ given above is equal to the extension given below:
Carsidor $R > \max\{|A_{1}|, |A_{1}|\}, \text{ then } F(\overline{z})$
is holomorphic on $|H \land \{|\overline{z}| > R\}$.$$

Then
$$Thm 4.2$$
 (and subilar argument as in Prop 4.1 (is)
 \Rightarrow F(z) maps (-00,-R)U(R,+60)
into the straight line segment (an, a,) (an odge of \ddagger).
Hence one can apply Schwarz reflect principle as before
to extend F(z) analytically to

Moreover, sincilar angument as in the proof of $f_{1k}(z) \neq 0$ before, we have F conformed \Rightarrow $F(z) \neq 0$ $\forall z \in \{(z| > R \})$.

And have
$$F'(z) = F(z)$$
 is well-defined on $2|z| > R(z)$
Since this extension coincides with the previous one
on $\{|z| > R \} \cap |H|$, they are identical.
Now, by Laurent expansion on $\{|z| > R \}$
 $F(z) = C_0 + \frac{C_{k+1}}{z^{k+1}} + \cdots + \cdots + C_{k+0} = k \ge 1$

and (0=F(00) 67.

$$= \sum_{k=1}^{k} F(z) = -\frac{kC_{k}}{z^{k+1}} - \frac{(k+1)C_{k+1}}{z^{k+2}} + \cdots$$

$$= \frac{F'(z)}{(-z)} = \frac{k(k+1)C_{k}}{z^{k+2}} + \frac{(k+1)(k+2)C_{k+1}}{z^{k+2}} + \cdots$$

$$= \frac{F'(z)}{F'(z)} = -\frac{(k+1)}{z} \cdot \frac{(1 + \frac{k+2}{k} \cdot \frac{C_{k+1}}{C_{k}} \cdot \frac{1}{z} + \cdots)}{(1 + \frac{k+1}{k} \cdot \frac{C_{k+1}}{C_{k}} \cdot \frac{1}{z} + \cdots)} \quad \text{for } \{|z| > R^{2}\}$$

$$= \sum_{k=1}^{k} \frac{|F'(z)|}{|F'(z)|} \to 0 \quad \text{as } |z| \to \infty,$$

Final Step: By Steps 2 e 3, the entire function $\frac{F'(z)}{F'(z)} + \sum_{k=1}^{2} \frac{\beta_{k}}{z - A_{k}} \rightarrow 0 \quad \text{as} \quad |z| \rightarrow \infty.$

Liouville's Thm =>
$$\frac{F'(z)}{F'(z)} + \frac{\beta}{b-1} \frac{\beta k}{z-A_k} = 0$$
.

Let $Q(z) = \frac{1}{(z-A_1)^{\beta_1} - \cdots (z-A_n)^{\beta_n}} = S'(z)$

Then YZEH,

$$\frac{d}{dz}\left(\frac{F(z)}{Q(z)}\right) = \frac{F'(z)}{Q(z)} \begin{bmatrix} \frac{F'(z)}{F'(z)} + \sum_{k=1}^{n} \frac{\beta_k}{z - A_k} \end{bmatrix} = 0$$

$$\Rightarrow \quad F(z) = C_1 Q(z) \quad \forall z \in \mathbb{H}, \text{ for some constant } C_1^{\times 0}$$

$$+ \text{once} \quad F(z) = C_1 S(z) + C_2, \quad \forall z \in \mathbb{H}, \text{ for some const. } C_2$$

Note that in Thm 4.6, $F(\infty)$ <u>can't</u> be a vertex of \sharp . If $F(\infty)$ is a vertex of \sharp , then the formula actually simpler with only (n-1)-degree in the denominator.

With the same notations as before, we have

$$\frac{Thm 4.7}{If F} \quad If F = IH \longrightarrow P \quad conformal \quad and$$

$$maps \quad A_1 < \dots < An-1, \quad \infty \quad to \quad the vartices \quad of \quad f^{2}.$$

$$Hen \quad \exists (cpx) \quad constants \quad C_1 \quad and \quad C_2 \quad such \quad that$$

$$F(z) = C_1 \int_{0}^{z} \frac{dx}{(z-A_1)^{\beta_1} \cdots (z-A_{n-1})^{\beta_{n-1}}} + C_2$$



Define
$$\psi(z) = (A_{n-1} + 1) - \frac{1}{z} = \frac{(A_{n-1} + 1)z + (-1)}{1 \cdot z + 0}$$

with
$$A_{n-1}+1, -1, 1, 0 \in \mathbb{R}$$
 and $(A_{n-1}+1)\cdot 0 - (-1)\cdot 1 = 1$
-: $Y \in Aut(H1),$

Moreover $z = \psi'(w) = \frac{1}{(A_{n-1}+1) - w}$

Let
$$A_k^{\dagger} = \mathcal{F}^{1}(A_k) = \frac{1}{(A_{h-1}+1)-A_k} = \frac{1}{(A_{h-1}-A_k)+1} > 0 \text{ and } \neq \infty$$
.
Since $(A_{h-1}-A_k)+1 \ge 1$, $\forall k=1, \dots, n+1$.

Also
$$A_{k}^{*} - A_{k-1}^{*} = \frac{1}{(A_{h-1}+1) - A_{k}} - \frac{1}{(A_{h-1}+1) - A_{k-1}}$$

$$= \frac{A_{k} - A_{k-1}}{(A_{h-1} - A_{k}+1)(A_{h-1} - A_{k-1}+1)} > 0$$

For w=00, we have

$$O = \mathcal{F}^{1}(00)$$
Honce $F \circ \mathcal{F} = |\mathcal{H}| \rightarrow P$ conformal and
maps $O < A_{1}^{*} < \cdots < A_{n-1}^{*}$ to $A_{00}, A_{1}, \cdots, A_{n-1}$ of \mathcal{F}
(still in order)
with exterior angles $\mathcal{F}_{00}, \mathcal{F}_{1}, \cdots, \mathcal{F}_{n-1}$ satisfying
 $\mathcal{F}_{00} + \sum_{k=1}^{N-1} \mathcal{F}_{k} = 2$.

Applying Thm 4.6, = constants C'i & Cz' such that z

$$Fo+(z) = C_{1}^{\prime} \int_{0}^{0} \frac{ds}{5^{\beta \omega} (3 - A_{1}^{*})^{\beta 1} \cdots (5 - A_{n+1}^{*})^{\beta n-1}} + C_{2}^{\prime}$$

$$\Rightarrow F(w) = C_{1}^{\prime} \int_{0}^{\sqrt{4}} \frac{ds}{5^{\beta \omega} (s - A_{1}^{k})^{\beta_{1}} \dots (s - A_{n_{1}}^{k})^{\beta_{n-1}}} + C_{2}^{\prime}$$

$$= C_{1}^{\prime} \left(\int_{+1}^{+1} (0) + \int_{0}^{+1} (0) \right) \frac{ds}{5^{\beta \infty} (3 - A_{1}^{*})^{\beta_{1}} \cdots (3 - A_{n+1}^{*})^{\beta_{n-1}}} + C_{2}^{\prime}$$
Note that $+(0) = \infty$.

Since the integral converges, the famula is valid. (in fact, $C_1' \int_{0}^{\frac{1}{2}} \frac{dz}{s^{100}} \frac{dz}{h_1^2} (s-A_k^*)^{p_k} + c_2'$ converges to a point on p_2)

$$F(w) = C_{1}^{\prime} \int_{\infty}^{\sqrt{4}(w)} \frac{ds}{5^{p_{\infty}} (3 - A_{1}^{*})^{\beta_{1}} \dots (5 - A_{n_{1}}^{*})^{\beta_{n-1}}} + C_{2}^{*}$$
where $C_{2} = C_{1}^{\prime} \int_{0}^{\sqrt{4}(w)} \frac{ds}{3^{p_{\infty}} \prod_{i=1}^{n} (s - A_{i}^{*})^{p_{u}}} + C_{2}^{\prime}$

Now substitute
$$\varphi = \Upsilon(\xi) = (A_{n-1}+1) - \frac{1}{\xi}$$

Then $\xi = \frac{1}{A_{n-1}+1-\varphi}$ and $d\xi = \frac{d\varphi}{(A_{n-1}+1-\varphi)^2}$.

 $\Rightarrow F(w) = C_2 + C_1' \int_0^w \frac{1}{\psi'(\varphi)^{\beta_{\alpha}} \prod_{k=1}^{\frac{n-1}{11}} (\psi'(\varphi) - A_k^*)^{\beta_k}} \cdot \frac{d\varphi}{(A_{n-1}+1-\varphi)^2}$

Note that
$$\forall (\varphi) - A_{k}^{*} = \forall (\varphi) - \forall (A_{k})$$

$$= \frac{1}{A_{n-1}+1-\varphi} - \frac{1}{A_{n-1}+1-A_{k}}$$

$$= \frac{\varphi - A_{k}}{(A_{n-1}+1-\varphi)(A_{n-1}+1-A_{k})}$$

$$\therefore F(w) = c_{2} + c_{1}^{\prime} \int_{0}^{w} \frac{(A_{n-1}+1-\varphi)^{\beta_{M}}}{\prod_{k=1}^{n-1} (\varphi - A_{k})^{\beta_{k}}} \frac{(A_{n-1}+1-\varphi)^{2}}{(A_{n-1}+1-\varphi)^{2}} d\varphi$$

Using
$$2 = \beta_{\infty} + \sum_{k=1}^{n-1} \beta_k$$
,

$$F(w) = C_2 + C_1' \cdot \frac{m}{|k|} (A_{n-1} - A_k + 1)^{\beta_k} \cdot \int_0^w \frac{d\varphi}{\prod_{k=1}^{n+1} (\varphi - A_k)^{\beta_k}}$$

$$= C_1 \int_0^w \frac{d\varphi}{\prod_{k=1}^{n+1} (\varphi - A_k)^{\beta_k}} + C_2,$$
where $C_1 = C_1' \cdot \frac{m}{|k|} (A_{n-1} - A_k + 1)^{\beta_k}$

which is the desired formula, *